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And one witness came and we promoted him - 751°PoRY X770 717 RNN)

OVERVIEW
Our X773 states that when an X"V testified that he is a 7w2 172 we quashed the rumor
and promoted him back to his original 71175 status; allowing him to eat 7m0 (etc.).

mMooIn anticipates the following difficulty:
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And even though the X773 states in waan7 P92 that we do not quash a rumor

concerning a rumored divorcee who was married to a 773. maon is asking why is it
that here the X713 assumes that we are S02an the 91p with (only) one 7v.

mooIN responds that the reason we are not 7v2n the 9p there is:
— 195031 *099Y 9109 7Y KaPION NY INT NN YAN NIDN 1YY SPNT DIWN

Because in w171 P79 there is a solution for the 175 and his (former) wife. They
can both marry other people. However, here if we do not promote him to 71175

status he will always remain a defiled j72, therefore 7"°2 acts to nullify the rumor;
and allow him to be a w2 j72.

mpoin offers another distinction:
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Or we can also say, that in our case since it is concerning 210 nowadays, which

is only j1297%, therefore the 02017 were lenient, and permitted to be 702n the 7. In
WA P0 however, it is a question of 3775% 7w which is an Xn»7X7 MK, therefore the *¥77m
were more stringent and would not allow to be P01 a 2.

SUMMARY
We are 2v2an a 7p if the 2109 of the 7P is permanent, or if it is pertaining to an MoK
11277 (only).

THINKING IT OVER
Will 7"°2 be Hvan a 717 that is a 131277 9109; however the 7109 can be remedied?

' Seemingly it should read X,X5. See Moo there Xy77732) 7"7. See also °IPOXI 7"7 2,19 MAIND NIV,

* There was a rumor spread concerning a 3713, that he divorced his wife. Nevertheless they continued to live together.
The ruling was that she must leave her (former) husband and the rumor was to be investigated. The X773 asked what
is there to investigate! The >y7771 rule that we do not nullify a 23! [moDn there adds that we are not Yvan the 2P
even if there are 0°7v that contradict the 91p.] She therefore must leave (her former husband) the j72.

? Even though that the woman will also always remain a w113 and be 17122 70K; nevertheless (even) if we were to
be Hvan the 7p she would still (certainly) be 77197 710K, for she is an WX NWK.
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